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G ; 2; el | | Glorgs wHubluansst : 100
Time Allowed : 2 ; Hours | [ Maximum Marks : 100

fleyeny : e allarssesd  sflure  siEan  udandl o eteram  ereiTLSEmaT
slur &516 Glgmeieneyl. ST WY AT Geomllamilles S
sevoasmediliurertlib e | engures Qsflalssab,

Instruction: Check the guestion paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

@oly [ Note : @eualearmggret preng Uflaysaen Gemedo_a).
This question paper contain Four Sections.

Ulfley - I/ SECTION - I
( wdlGuetmaet : 15 ) / ( Marks ; 15 )

ol 1) @ullflalle 2 erer 15 aflaréaenéeh el wall&sayb.
i) Oar@Eésiu’ Geien BreE wrhny olelsefle Wlean sflurer
allenLowug CarbClsfba auaeab.
Note ; i) Answer all the 15 questions.

ii) Choose the correct answer in each question. Each of the questions
contains four options with just one correct option. 1551 =:15

1. f={(6,3)0(8,9)(5.8).(-1,6)}eevllés 3-a1 cpeir 2 (pébsel

() 5 wibHmb - 1 =) 6 whnibh 8 @) B8 ohmpb -1 #) 6 whmb 5.
Hf=4(6.3)(8,9),(5,3),(-1, )}, then the pre-images of 3 are
a) HBand-1 bl 6Gand8 ¢)] Band-1 d) 6 andb.
2. 1+2+3+...+n=kaelé 1°+2%+3%+...+n° aTEaTLIg)
kik+1 ;

3y k? <) k3 @) % B)  (k+1)°.
Fl+2+3+ ... +n=J then 1°42%+3%+ . +n%is equal to

: kik+1 .
a) k* by k° e % di e+ 1)
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3. dpssrgmid sppseild agl saupTang) ?
=) {ay_}j Iﬂ g{k]=ak, ¥ k€N aar cuenpupbasiulL g : N — R eedip eriurs

H{HBHEUTID,

21) s Clarir euflenslles (preapr eamemdansille o plysen GmoHsanh

@) o sriurerg CeTLT auflmewrs @Ess Cousmyw seudlub e

#) f:R > R@Whe, f(x)=2x+1 x € R aeép sriurang s Cgrut aflas
0.

Which of the following statements is false ¥

a) {aﬂ}il can be viewed as a function g ;: N — R defined b}'g{k}=ak. YEkEN

bl A sequence may have infinitely many terms

c¢] A funclion is not necessarily a sequence

d) The functionf:R - Rgivenbyf{x)=2x+ 1, x €K is a sequence.

4. x? +5lx +16=0 aarp snerUTqHE GLolGess clpeuiuenen (@) dvemenGlwentlen
1) kb% =) k}? @)) -_ES-{R:{% F) G-::kf:;
If x*+5kx+16=0 has no real roots, then
a) k‘::-E b) k}ﬂ c) ﬁ«.ﬂ.ﬁr«:E d) E}ﬁk¢§-.
5 5 5 2] 5
5. = pliusst Sxy whpbd 28ab g fluaibnes .G\ .qu.
=) 140 xyab BI)  &HTewT @)weuT g
@) 1 2 B
The G.C.D. of 5xy and 28ab is
a) 140 xyab b cannot be determined
Y d)s 10:
6. el Adldr euflens 3 x 4 wpnib el B e sufleng 4 x 3 arafiiés BA Wl euflene
o) 3x3 @) 4x4
@) 4x3 F)  euemyundsiuL alldene.
If a matrix A is of order 3 » 4 and a matrix B is of order 4 x 3, then the order of
BA is
a) 3x3 bl 4x4
¢) 4x3 " d)' not defined.
7. spésramd ahsluaaisalsn Glareiy by GriaGar iy semoub 2
S T Tl B, 00 =) (L,-1)(-1,1)(0,1)
) i O e |8 A ) (1,=1)(=1,1)(1,1)
Which of the following sets of points is collinear ? i
a). il 1= b= Bl 0 ) bl (=10 B laley 000 )
c) (1,=1) (=1, L)l 10} d) 2 BRSSO T (5= B G T e ) i
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(2. -7 ) erébin yeirafl auflé Glesveusn, x 2i5dhe @l emoruren guoren Gri&Gamiig e
FLoelTUr (R :
) x =2 ) x=-7 @) y=-7 F) =2
The equation of the straight line passing through the point { 2, - 7 ) and parallel
to x-axis, is
a) =2 b)) x=-7 c) y=-7 g =2
LerRéaiu’ L u_sdé = eien BrDerh APOQ e aspbpeta; 26 Qeuf hnm
AP = 10 Gl8.6. O eaiug el sdlar smowb, AP whpd AQ sydluemes A Welmig

susuiLBb CleTRGeTRas et oL &bl =
P‘

Q .
=) 6 Qe af 2) 3 Gle.b @) 8Glz.f ) 16 Gla.f

The perimeter of the quadrilateral APOQ is 26 cm and AP = 10 cm. O is the
centre of the circle. Then the radius of the circle is { where AP and AQ are the
tangents from A )

P

Q
a) 6cm bl 3cm c¢) 8cm d) 16 cm.

ClenGarasr p&Gamemid AABC Mlés £ B = 90° wppd BD 1 AC. BD = 8 Qg .f,
AD = 4 Glg .S erefles CD = :

=) 24 Glg uf =) 16 Glg.f @) 32 Qe F) 8 Qe.f.

A ABC is a right angled triangle, where 2 B = 90° and BD 1 AC. If BD = 8 cm,
AD = 4 ¢m, then CD is

al] 24 cm b} 16 cm c): 32 em d) 8 cm.
l__i_:lpszf} 7 '

1-sinf
=) sin . =) cos B @) -cos®B F) —sin'0.
b

1-sinb
al] sin#A b) cosé ¢l  -—-cos# d) -sin#.
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12. 9tan?0 - 9 sec?f=

=) 1 &) 0 &) 9 ) =9,
9 tan?f - 9 sec?0 =
al 1 bl 0O oA R (o} i el
13. 2 Glg.uf sy 2 efen pilh Ganengdlesr euemeniimiy
=) 8n Qg 152 34 ) 16 Glg .52 &) 127 Qs uf 2 B) 16x Qe i<,
If the radius of a sphere is 2 cm, then the curved surface area of the sphere is
equal to
a) ' 8xem? b} 16 cm? c) 127 em? d) 16z em?.

14. e Yeiefl alleursdler allabs aitde eqmefl 12:25 aalla spear il alasan

=) 35 =) 3 @) 25 F) 3-25.
If the variance of a data is 12-25, then the standard deviation is
al 35 By 3 ¢ 25 d) 3:25.

15. P(A)=025.P(B)=050,P(ANB)=014aailéa, P(Ayd g6 Bub e ) =
=) 0-39 ) 025 @) 0-11 k) 0-24.
HP(A)=025,P(B)=0530,P(ANB =014, then P( neither A nor B ) =

al] 039 b} 025 o PESS 0V T d} 0-24.

ey - 11 / SECTION - II
{ ol 1Gluesmaer : 20 ) / ( Marks : 20 )

@oliy i) Curieb uss alarssEnse el wellhsab.
i) allemr eewm @ 305 savglurs ellocwelldsab. (pse
14 aefleniréseiledpihs gCaanbd 9 ellennssamensd Gairay Clalweayb.
iti)  epelGleun allarmailb@b Erevor(d wallblst st

Note : i)  Answer 10 gquestions in all.
ii) Question No. 30 is compulsory. Select any 9 questions from the
first 14 questions.

iti} Each guestion carries two marks. 10 x 2 =20
16, A={10, 15, 20, 25, 30, 35, 40, 45, 50} :
B={1,5, 10,15, 20. 30 } whpid
C={7,8, 15, 20,35,45, 48 }aafles A\ (BN C ) srews.
If A ={10, 15, 20, 25, 30, 35, 40, 45, 50 }
B={1,5, 10,15, 20, 30} and
C= 7, 8. 152035 45. 48 L find AN (BN C).
Footer Page 4 of 12.
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18.

15

20.

21,

22,

23.

24.
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X TR Fdehy iR R QG ?.g}ﬁrﬁfﬂ&.xa&{gﬁﬁgﬂ Y &amen 2 mey
{01 1) (1,3)03,5).(3.7).(5,7)} ereor cuenqumiiledt oig il 2y @om s
S4mls. @evemey erefley, &rTemrDd s,

LetX=1{1,2,3,4,6},Y={1,3,5,7, 9}and a relation from X to Y is defined as
{01 1)(1,3).(3,5),(3,7)(5,7)}. Verify whether the relation is a function
or not. If not, give the reason.

erevor 13 @6 euguBn rlless e (pup aanseilar ocdmasamaamus e s,
How many two digit numbers are divisible by 13 ?

a, feresuem 3x% - 6x + 4 = 0 araTanDd FUOETUTL e Apaukise arefles a” + B2 e

Wl sretoa.

If a and B are the roots of the equation 3x% - 6x + 4 = 0, find the value of

_ aZ 4 BE.

4 -2) g L2
A=(5 QJ Hnio B=[ ] 3] 5I'Ebﬂi§u_ BA — 3B erebip Sjcodtleniud: HTete.

4. -2 g 2
HA= and B= . find 6A - 3B.
5 -1 -3
R R
{ ]J [ ?J e jeonl sellletr Gumbsmad sraina.
3 -2\(4 |
Find the product of the matrices :
5 L2 7
yefrefl ( 1, 3 ) cow pHSGETH ewuores Qaranl waGaransdle B\ emenme
(-7, 6)whob (8, 5 ) aaflé p&Caremsdler ppenreais) (peaamanud &Tess.

If the centroid of a triangle is at [ 1. 3 ) and two of its vertices are [ - 7, 6 ) and
( 8, 5). then find the third vertex of the triangle.

A ABC & £ A erétip Garaogdler o up @menbaly AD syers Lish BC aw
D e spdledng. BD = 25 Qsif, AB 5 5 Ga.f whmih AC = 42 Qs.f. eadfles
DC ewé srem s,

In A ABC, the internal bisector AD of 2~ A meets the side BC at D. If BD = 25 cm.,
AB = 5 cm and AC = 4:2 cm., then find DC,

(sinﬁ{-] + casﬁﬂ] = 1 - 3sin0 cos?0 eran Blmeys.

Prove : (sinﬁl} + CDSEH) = 1 - 3sin?@ coszﬁ.

| @([F;.L'Jq&_a { Turn over
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25.

26.

27.

28.

29.

30.

30 § derpeier qu sbusddr Hlpear Barb 1043 f aafle glueflar ghps
Barangdler ( sogol L sdldlmpibs agbnd Caremonn ) seralenand &meme.

Find the angular elevation { angle of elevation from the ground level ) of the sun
when the length of the shadow of a 30 m long pole is 10+/3 m.

@ 2 eielpn e mevenller 2o whnd Gleusll oyghset wpapGu 12 Gl whpo
18 Qs 1f areire. Guayd Spen 2 wyn 14 Gs.f ealle, Seuameneniles auemen gLy

AL T
Sredn . ( n=?mmsa]

The internal and external radii of a hollow cylinder are 12 cm and 18 cm
respectively. If its height is 14 cm, then find its curved surface area.

22
"[ Take m=—)
7

6 Hlaionnéd sabdiilen oy7ib whp sryurd cpenGu 20 Glg S whpn 29 Gs . aewilé

'&Eﬁmﬁw FalDUE8T Hen SyeTeneLd HITE00 & .

Radius and slant height of a solid cone are 20 em and 29 cm respectively. Find
its volume.

43, 24, 38, 56, 22, 39, 45 g dlu yeiell eleughiseilan afés wHmD aldads Gl
T EHoT & .

Fincd the range and the coefficient of range of 43, 24, 38, 56, 22, 39, 45.

s @mUg @U_Iéu. camaeelGhs kb (P oo SLeUTLUY  (penpulles
GaibolpDealu@ding. Spg @ B UsT  adueoms  GlEUUnhheTe
Blepssallane smes.

An integer is chosen from the first twenty natural numbers. What is the
probability that it is a prime number ?

<) @B QsTLibs GhopuusL admseild mbaa 20 aald blacnsmend
&HIT G001 & .
2jebevg)
2) y = 7 aamnm CrpiGarlyhe Gehgssragd (1, 2 ) eadmn yeiell euflurs
Glgsveugnrenr CriGamgen snemur( &reos.

al If the sum of two consecutive odd integers is 20, find the numbers.
OR

b} Find the equation of a straight line passing through ( 1. 2 ) and
perpendicular to the line y = 7.
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Uifley - III / SECTION - III
[ O @ustsaer : 45 ) / ( Marks : 45 ) ’

Goliy: 1) Qurgsh qetug ellamésense e wsllésan.

i) eflen  ewm  45-hg scmgiurs lencwefldémain.  psé
14 aflennéaeiallnhe gCsaib 8 allaimrséamansd Caia Glalwab,

iti)  epelGleuny aflarmalb@d mbs wiGlUmT S,
Note : i) Answer 9 questions in all.

ii) Question No. 45 is compulsory. Select any 8 questions from the
first 14 questions.

iii}] Each question carries_five marks. 9x5=45
Sl U={-2, =10, 1523, .., 10};A={-2 2.3 4. 5)obnp B={1,3.5,8. 9}
aTein . @ misees seor BlTLd elflamens sfluniéseayb.
letU={-2,-1,0,1,2,3,..,10},A={-2,2,3.4,5)andB={1,3,5,8.9}.
Verify De Morgan's laws of complementation.
32. a&miy f:1-3.7)— R e ury suaunssiul Herers.
J4xz -1;: -3=x=2
=3x - 2 2=sx=4
2x — 3; 1<x=6

Jx)

dlebteumeusmeubenmsd ameiers

il FUEI+f(6) i) f(1)-f(-3)
. J(3) + S(-1)
i) f(-2)-f(4) V) ————

21(6) - f(1)
Afunction f:[-3,7 ) — R is defined as follows :

4x2—1; -3 =x<2
S(x)=13x - 2; 2=sxs4

Dt 4 =x=6
Find . ]
i) fibl+f(8) ) Rkl =3)
: B+ S
i) f(-2)-f(4) i e e S
: 2/(8) - S(1)

[ dlpiiye / Turn over
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33,

34.

36.

37,

38.

39.

40.

a, b, ¢ whogp d edue Gk CUEESE Csritaflaslles 2 erera ereild
(b --C}E + {c--—a}2 + [d—b}z = {a—d}2 erent Himieys .

If a., b, ¢ and d are iIn geometric sequence, then prove that
(b-c)? + (c-a)? + (d-b)® = (a-d)?.

sryaiiLBbes « 2x° - 3x% - 3x + 2

Factorise : 2x3 - Bxt = By 42

xt - ax® +10x%2 -ax + b §p(H (P(LREUITHED eretlao a, b L.g‘:‘f,,aﬂu_.lmljb@ﬁh &1L & Em e &

T G0 &
if'x* —4x3 +10x%? - ax + bisa perfect square, then find the values of a and b.

56 Camamus Ceiw A &g B ewu all 6 B ssr @onanss Comealiu@ding.
Greumb Geihg yCumamus Glolgra o 4 Brisella (puds @uweb.
aredllén, B sallCu 2cuCeueneusow e daemen BT Selle (pudbs Gweun 7

Person A takes 6 days less than the time taken by the person B to finish a piece
of work. If both A and B together can finish it in 4 days, find the time that B
would take fo finish this work by himself.

=1

-1 5
A=[ sl AZ — 4A + 51, = 0 erent hlmyeys.
2 3} 2 Blmiey

| S | ;
If Aw[z (].then show that A® —4511.+5J2 =
yefrefileem (6,9 ) (7.4 ). (4, 2 )wbob ( 3, 7 ) élucubanm (pemen senirad ol e
BTHSTHEEST LTl SHTesos.
Find the area of the quadrilateral formed by the points (6, 9 ), (7.4 ), (4, 2)
and (3, 7).

Al(2.1),B(-2 3),Cl(4, 5)eadua wpalaramnd ABC Ml o ddlaen. 2 44
A leblphg euenmuUiLED HHSCHT I 6l FUETUTL el & ST,

The vertices of AABCare A(2,1 ), B(-2,3)and C [ 4, 5 ). Find the equation of
the median through the vertex A.

G W&Caransdl oo Caramadlar oL uyn GG Fuban qureng o@Garam gl
edliubadms o L upwrs, 2&ECerangas L sflu usshseida aldflggdla Jflsen
— hlmyeys.

The internal bisector of an angle of a triangle divides the opposite side internally
in the ratio of the corresponding sides containing the angle. Prove it.

Footer Page 8 of 12.
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41.

42,

43.
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200 21g 2 WIPETET  HeuRIS T Aeressdar 2 sflNphe. e ariuTent
Gorandl ohnd oo U@ dluapion UTTSSIDTT. &Hebso] aflenda sbldar s,
Coneod] HDE UG 3 Fwe @Gg Hlensles Gy fﬁp;r'r.:'f,(.‘?a;rruq_éu e 51 menT .
Ganedl, L@ oduapida @nss Cereaumss weonGu 45° whmib 30° aw@is.
@6 a‘:rJ.1iI_':Q-C|-i:)‘iB-I:D Ungisriurs @mse Geuetn(Hib eaild, S@ealsEhd® QoL uuL g
Gonkas 300 spures @edHe Geueto Hb. GlenLCleuell  Geomibares, SmlLTen

adafldma spebl erapiu Geueior(Bib. Syeul aggflaema epedl a1l Geuesa o 2

From the top of the lighthouse of height 200 feet, the lighthouse keeper observes
a .Ya-::ht and a Barge along the same line of sight. The angles of depression for
the Yacht and the Barge are 45° and 30° respectively. For safely purposes the
two sea vessels should be at least 300 feet apart. If they are less than 300 feet,

the keeper has to sound the alarm. Does the keeper have to sound the alarm ?

iy dnl MynTeng & @aenller Mg by @oanbs cugelles 2 efeng. Gmi myHHle
Glorss 2 wgb 135 6 whpi =g ypsdlear allLb 28 . Cuoeyb 2 (menen UTHSH

s wirin 318 erelles amlmyddlen Quomss UDUUTUSRLES GTE0s.

A tent is in the shape of a right cireular cylinder surmounted by a cone. The total
height and the diameter of the base are 13-5 m and 28 m. If the height of the

eylindrical portion is 3 m, find the total surface area of the tent.

G ueietldleysten 200 wrewleuissl GF  UbsHE semarldifles  eurmdlu
Lbssnedldar  adnadlememu  ubfiu  edleusd Eperamib St aemeniild
Gerfesiul Qees. @ene Sl alassb srems.

‘ s mhatlen eediasame 0 1 2 3 4

l LOIT GoETeLiIT & afT 6Bt 6T arioT GuoT| 6 & 25 64 68 18 15

The number of books bought at a book fair by 200 students from a school are

given in the following table

{ Mo. of Books 0 | 2 3 ‘ 4

1

| No. of Students 35 64 68

Caleulate the standard deviation.

[ flpiys ( Turn over
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44, go oulla 10 Qeusiaer, 5 amly, 3 udos whnd 2 Hauiy Hoduhsse 2 cere.

sweurity wpepde CarbllsRasiLGd G Lbs Clousiamer o@mas GBI deus

ugees Blmwre @ulusherer Hlepasallamerns smetmns.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at

random. Find the probability that the ball drawn is white or black or green.

45. ) x=1+a+a2+a3+...mﬁ]@ﬂ}

y=1+b+b? +b°+ . aaflé

2, gy X
I+'ab +.a2b% + q%p% 4o w2 oo VS

x+y-1

Deveugy

1) Grit el Samby angeale @Gﬁ]-;'ﬁﬂ%l;luﬂ._l_ COmb@alusilen alllLn 42 f whmb
zuwib 28 f adrs. @ Cph@eluame wenpplllellpha urgsrsds &osmar
gedlures Blassflure apriu@dps e, Caamewrar &asre glamor|ul] e
UITUEm &S HITGUoT .

al Ifx=l+a+a2+a3+...and

y=1+b+ b + b> + ... then show that

2 bQ Y

l+ab+a +a3b3+.,,=

x+y-1
OR"

b}. A heap of paddy is in the form of a right circular cone whose diameter is
42 m and height 2-8 m. If the heap is to be covered exactly by a canvas to

protect it from rain, then find the area of the canvas needed.

Footer Page 10 of 12.
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Nfley - IV / SECTION - IV

{ p&lOGlueio e : 20 ) / [ Marks : 20)

ey : 1) @uifele 2 eier geaGeors elamelgd @rend wrbo eilleoniT éh e et
QlamHéa iUl [HsTeme .
i) gaQarm olomalgind 2sfer @l wrHn alem & s efleilsh el
o allarmasn CaihlsBsa GG efleréaEnsEh ellenl wellfamab.

iil)  gaGeure allaralhen ubg &G e Hef .

Note : i) This section contains two questions, each with two alternatives.
ii) Answer both the questions choosing either of the alternatives.

iii) Each gquestion carries ten marks, 23 10 =20

46. &) =ygluésd BC = 55 Geuf, £A = 60° whod 2 &8 A Dellmpha euempuiCL
BE&CETEH AM 61 Fenh 4-5 Glg if Glaneio. A ABC auanye.
e eU g
9y) AB = 6 Qe.if, AD = 48 Q1. BD = 8 Qo8 wppd CD - 55 Qg8 e

yeneysar Glarel sul LbrharDh ABCD auens.

a) Construct a A ABC in which base BC = 55 cm, £A = 60° and the median

AM from the verlex A is 4-5 cm,
OR

b) Construct a cyclic quadrilateral ABCDD where AB = 6 cm, AD = 48 cm,
BD = 8 cm and CD = 5'5 cm.

Footer Page 11 of 12. [ #lmiys / Turn over
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47. &) y=x2 +2x -3 @letT  euegLLD  euenThal,  Sgenen UwelTuRSE

x>~ x-6=0 ETEHTM SLOESTIITL.IQ.601 CLRGURIGETEN &HiIT GO0 &,

Bjeleug
) x 1 3 5 7 8 ‘
y 2 6 10 14 16 ‘

Cupseo. o Leueneonilé 2 eter allsursdlnE euamuLD suemThal (B fpeuld
) x=4aeaiéd y e wdllmus srers.
ii) y=12 erafley x e wfllemud srams.

a) Draw the graph of y= x> + 2x -3 and hence find the roots of
X2~ 'x - Gm 0.

OR
I X 1 3 T 7 8
y 2 5] 10 14 16

Draw the graph for the above table and hence find
i} the value of y if x = 4

ii) thevalucofxify=12.
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